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QUESTION NO: 1 
 

In which directory is the sys_log found?
 

A. /var/log

B. /nas/server/log

C. /nas/var/log

D. /nas/log
 

Answer: D

 

 

QUESTION NO: 2 
 

Which command can be used to verify LUN masking is correct?
 

A. nas_disk

B. server_setup

C. nas_storage

D. server_devconfig
 

Answer: A

 

 

QUESTION NO: 3 
 

Which protocol maps logical Internet addresses to MAC addresses?
 

A. WINS

B. DNS

C. TCP

D. ARP
 

Answer: D

 

 

QUESTION NO: 4 
 

Which command is used to test dialhome?
 

A. callhome.phone_calls

B. ch_dialin_enable

C. ch_dd

D. ch_test
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Answer: D

 

 

QUESTION NO: 5 
 

Which interface is provided by the application layer?
 

A. Switch

B. Device

C. Network

D. User
 

Answer: D

 

 

QUESTION NO: 6 
 

Which component of SNMP queries SNMP agents to view information, change settings, etc.?
 

A. Server

B. Agent

C. MIB

D. Manager
 

Answer: D

 

 

QUESTION NO: 7 
 

Which command shows the state of all active connections on a Windows host?
 

A. ipconfig

B. nfsstat

C. tcpstat

D. netstat
 

Answer: D

 

 

QUESTION NO: 8 
 

What is the network portion of this address?

 

192.6.4.196/26
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A. 192.6.4.26

B. 192.6.4.0

C. 192.6.4.192

D. 192.6.4.70
 

Answer: C

 

 

QUESTION NO: 9 
 

Your customer is unable to access Data Mover file systems by hostname, but is able to access

them by IP address from HostA. HostB can access the Data Mover by hostname and IP address.

What is the cause?
 

A. Bad entry inHostA's hosts file

B. lmhosts is empty

C. Duplicate IP address

D. DNS reverse lookup entry is missing
 

Answer: A

 

 

QUESTION NO: 10 
 

What is the first supported HLU for Celerra/CLARiiON data LUNs?
 

A. 16

B. 18

C. 4

D. 10
 

Answer: A

 

 

QUESTION NO: 11 
 

Which statement best defines the probable cause of an Ethernet collision?
 

A. There was an Ethernet hub failure.

B. Two or more Ethernet devices transmitted at the same time.

C. Two or more Ethernet devices have the same address.

D. There was an Ethernet switch failure.
 

Answer: B
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